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Q1) Answer any two parts of the following : [2 × 5 = 10]

a) Write down the main advantages of PLC over electromagnetic relays.

b) Write down the main limitation of relays.

c) Describe the resetting of timers.

Q2) Answer any two parts of the following : [2 × 5 = 10]

a) Briefly describe the working of PLC.

b) Explain the programming languages used in PLC.

c) Draw & explain the internal architecture of 8051 microcontroller.

Q3) Answer any two parts of the following : [2 × 5 = 10]

a) Describe the memory organisation of 8051 microcontroller.

b) What is the role of SCADA in dispatch center? Explain.

c) Write a short notes on Operator Console in SCADA.

Q4) Answer any two parts of the following : [2 × 5 = 10]

a) Briefly describe the data loggers in SCADA.

b) Give an brief introduction on keypad interface used in Assembly Language Programming.

c) Explain various types of counter instructions in PLC.

Q5) Answer any two parts of the following : [2 × 5 = 10]

a) Explain the timer operation and Serial Part Operation in (MCS) - 51.

b) Write a short notes on sequencer.

c) Give an brief introduction on Communication Channels in SCADA.
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NOTES :
i) Attempt all questions.
ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any

difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students is not allowed.
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({hÝXr AZ wdmX)

Zm oQ > : g^r àíZm| Ho$ CÎma Xr{O`o &

à.1) {ZåZ _| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE … [2 × 5 = 10]

A) {dÚwV Mw§~H$s` [abo na, PLC Ho$ _w»` bm^m| H$mo {bI| &

~) [abo H$s _w»` gr_mE± {bI§o &

g) Q>mB_g© H$s [agoqQ>J H$m dU©Z H$a| &

à.2) {ZåZ _| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE … [2 × 5 = 10]

A) PLC H$s H$m`©àUmbr H$m g§{já dU©Z H$s{O`o &

~) PLC _| Cn`moJ hmoZo dmbr àmoJ«mq_J ^mfm H$mo g_PmB ò &

g) 8051 _mBH«$moH$ÝQ>́moba H$s Am§V[aH$ g§aMZm It{M ò Ed§ g_PmB ò &

à.3) {ZåZ _| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE … [2 × 5 = 10]

A) 8051 _mBH«$moH$ÝQ>́moba Ho$ _o_moar AmJ}ZmBOoeZ H$m dU©Z H$s{O`o &

~) àofU H|$Ð _| SCADA H$s ^y{_H$m Š`m h¡? g_PmB`o &

g) SCADA _| Am°naoeZ H$Ýgmob na EH$ g§{já {Q>ßnUr {b{IE &

à.4) {ZåZ _| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE … [2 × 5 = 10]

A) SCADA _| S>mQ>m bmJg© H$m g§{já dU©Z H$s{O`o &

~) Ag§~obr b|JdoO àmoJ«mq_J _| Cn`moJ hmoZo dmbo (H$s-n¡S>) na EH$ g§{já n[aM` Xr{OE &

g) PLC Ho$ {d{^Þ àH$ma Ho$ H$m°CÊQ>a B§ñQ>́ŠeZ H$mo g_PmB`o &

à.5) {ZåZ _| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE … [2 × 5 = 10]

A) (MCS) - 51 Ho$ Q>mB_a Am°naoeZ Ed§ gr[a`b-nmoQ>© Am°naoeZ H$mo g_PmBE &

~) {g¹|$ga na EH$ g§{já {Q>ßnUr {b{I ò &

g) SCADA Ho$ H$å ỳ{ZHo$eZ M¡Zb na EH$ g§{já n[aM` Xr{O`o &
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